

$$1.40 \text{ } 4: \quad 1^3 + 2^3 + 3^3 + \dots + n^3 = \frac{n^2(n+1)^2}{4} \quad 1 \leq n \quad (1)$$

$$1^3 = \frac{1^2(1+1)^2}{4} \quad n=1$$

$$1 \stackrel{?}{=} 1 \quad n+1$$

הוכחה

$$(n+1) \cdot \frac{1^3 + 2^3 + 3^3 + \dots + n^3 + (n+1)^3}{4} = \frac{(n+1)^2 \cdot (n+2)^2}{4}$$

$$4 \cdot \frac{n^2}{4} + n+1 = \frac{(n+2)^2}{4}$$

$$n^2 + 4n + 4 = n^2 + 4n + 4$$

$$S_1 = 1^3 + 3^3 + 5^3 + \dots + (2n-1)^3 \quad (2)$$

$$S_2 = 2^3 + 4^3 + 6^3 + \dots + (2n)^3$$

כדי להוכיח את S_2 נשתמש ב- 2^3 כפונקציה

$$2^3 \cdot \frac{1^3 + 2^3 + 3^3 + \dots + n^3}{4} = \frac{n^2(n+1)^2}{4}$$

$$S_2 = 2^3 + 4^3 + 6^3 + \dots + (2n)^3 = \frac{2^4 n^2 (n+1)^2}{4}$$

$$S_2 = 2^3 + 4^3 + 6^3 + \dots + (2n)^3 = 2n^2(n+1)^2$$

(הוכחה נכונה) $2n$ זה הפונקציה $n^2(n+1)^2$

$$S_{2n} = 1^3 + 2^3 + 3^3 + \dots + (2n)^3 = \frac{(2n)^2(1+2n)^2}{4}$$

$$= \underbrace{2^3 + 4^3 + \dots + (2n)^3}_{S_2} + \underbrace{1^3 + 3^3 + \dots + (2n-1)^3}_{S_1} = \frac{4n^2(1+2n)^2}{4}$$

הוכחה נכונה כי הפונקציה $n^2(n+1)^2$ היא הפונקציה

$$S_2 + S_1 = S_{2n}$$

$$S_1 = S_{2n} - S_2$$

$$S_1 = n^2(1+2n)^2 - 2n^2(n+1)^2$$

$$= n^2[(1+2n)^2 - 2(n+1)^2]$$

$$= n^2[1+4n+4n^2 - 2(n^2+2n+1)]$$

$$= n^2[1+4n+4n^2 - 2n^2 - 4n - 2]$$

$$\boxed{S_1 = n^2[2n^2 - 1]}$$

$$\boxed{S_2 = 2n^2(n+1)^2}$$